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Course Details

Course Title:  _Signals & Systems Module: 04
Instructor: Engr. Mujatab Ihsan Total Marks: 50
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Q1. Identify the basic difference between a periodic and an aperiodic signal using examples. | Marks
06
CLO1
Q2. =0 ~—mMSXx=S0 Marks
f(x)={ m 0SxSn 12
Retrieve the Fourier series for the given function. CLO 3
Q3. If X(z) = 42" ¥ 22—~ Marks
(zz2 + 2z = 3) 10
Retrieve x[n] using inverse Z-transform method. cLos
Q4. If x[n] = 48[n] = 38[n - 1] + 48[n - 2] Marks
h[n] = 28[n = 1] = 38[n = 2] + 25[n - 3] 10
Produce Y(z) and y[n] CLO3
Q5. Evaluate y[n] using convolution summation. Marks
12
3 4 CLO 2
4 2 x[n] 3 2 h[n]
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